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Transcription

In this Appendix, Arabic letters will be used to represent Arabic sounds whenever 
possible. However, in some cases a transcription system based on the roman alphabet will 
be employed  to reflect a more accurate and consistent pronunciation of these sounds. 

 Arabic Letter
<= <= >?= @= A= B  

)CDEF(
$

G

H

I

J

. 
K

L

M

-

N

O

P

Q

R

S

T

U

V

8

Transcription
’ (the glottal stop)

aa
b
t
th
j
H
kh
d
dh
r
z
s
sh
S
D
T

DH
‘

gh
f 
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Abbreviations
m. = masculine
f. = feminine
pl. = plural
s. = singular

1. The Definite Article and the Sun and Moon Letters
Definiteness in Arabic is expressed by attaching the prefix $W  “the” to nouns and adjectives:

(Note that $XY'G 4YZ0  is a full sentence that is translated as “The door is big”.)

[

\

W

]

5

C?

1

^

K
k
l
m
n
h

 uu
oo
w
ii
ee
y

9_`a-

/a]

1X"

!bZ"

!Zc

/def

!'G 4YZ0
$XY'G $XdYZ0

baab kabiir
albaab ilkabiir

big door
the big (the) door
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If $W  is followed by a sun letter, it is assimilated to (becomes the same as)  that letter, which 
results in a doubled consonant in pronunciation but not in writing, as in the following: 

W remains unchanged before moon letters, as in:

The following table shows the sun and moon letters:

  

As in English, nouns that are introduced for the first time do not take the definite article, and 
nouns that have been introduced take it:

$X_Dg

$Xh'i)

$Xjkl'B

ashshams
  assaa‘a

aththalaathaa

the sun
the watch, the hour, the time 

Tuesday

$XmD0

$n-!b'B

$XoDZg

$Xda/c

alKamar
al’arbi‘aa’
alkhamiis
alkuweet

the moon
Wednesday
Thursday
Kuwait

Sun letters

H=  I= L= M= -= N= O= P= Q= R= S= T= W= 5
Moon letters

<= G= J= .= K= U= V= 8= [= \= ]= p= 1= ^

Cq$ !Zc.  $XYZc (Zr s tu08 
va].

 This is a house. The house has four bedrooms.
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There are at least four areas in which Arabic and English may differ.
a. After a demonstrative pronoun like this, that, etc., the definite article is not used in English but 
is used in the equivalent Arabic structure:

b. In definite adjective-noun phrases, the definite article appears only once in English, but as 
many times as there are adjectives and nouns in the phrase in Arabic:

c. Unlike English, an Arabic sentence cannot start with an indefinite noun. Compare the English 
sentences with their Arabic equivalents:

d. The definite article appears in the names of some countries and cities but not others, as 
shown in the following table:

As a foreign learner of the language, the best approach may be to memorize the names of 
the countries and cities that start with $W  and the ones that do not.
Note that adjectives derived from these names behave like adjectives in general; they 

Cq$ $XYZc  
Cq$ !Zc.   

this house
This is a house.

$Xw'XY) $n-LvZ#) $Xx"/"F.The new Jordanian (female) student.

$Xx'9b'H $X+da9Z#) <-yz 9{ $Xx'9b'H $Xo'|#).

$n4} $Xb0!; <SZf 9{ $n4} $n90/d;.

State schools are cheaper than private 
schools. 
Arab food is tastier than American food.

Without the Definite Article

~a-/'= XY�'5= 9*0= !Z01H= S0$!Äg= L9_Å

With the Definite Article

$XhaL$5= $Xda/c= $XZD{= $XZav'5= $Xmu"O   
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agree in definiteness with the noun they modify (see the nisba adjective below):
Ç'9b) ~a-/#)a Syrian university
$Xx'9b) $Xha-/#)  the Syrian University
$X0>Zg $XD*0^the Egyptian President

Finally, a note about the spelling of $W . If the preposition W “to, for” is attached to a word starting 
with the definite Article, like $Xx'9b)  (the university), then the $ of the definite article is deleted. So 

W+$Xx'9b)  is written as XÄx'9b)  (to the university). 

2. Gender
Arabic nouns are generally made feminine by attaching the suffix ?)/F , called É'B 90!aS)  (taa’ 
marbuuTa) to the masculine form, as shown in the following table:

Adjectives modifying feminine nouns also end in ?)/F , since adjectives agree in gender with 
the noun they modify, as shown in the following:

3. The Nisba (relative) Adjective
Many adjectives in Arabic are derived from nouns by suffixing the ending ^ to the noun from 
which they are derived. To form the Nisba, add !"  to the end of the noun; if the noun has a 

Masculine
S'X2f

SYZf

9`�"O

Feminine
S'X2Y)

SYZY)

9`�"~)

student

doctor, physician
engineer

Masculine
S'X2f Ç"/"
SYZf 9_`a-

9`�"O i0$6;

Feminine
S'X2Y) Ç"/"F
SYZY) 9_`a-F

9`�"~) i0$6Z#)

new student

famous physician
an Iraqi engineer
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definite article or ends in a vowel or É'B 90!aS) , they are dropped:
 

Remember that nisba adjectives, like adjectives in general, agree in gender and 
definiteness with the noun they modify. 

4. Number: Forms
A noun in Arabic can be singular, dual, or plural.

The singular
A singular noun refers to one item or one thing, like 4e'G= 9`�"O= S'Xf . It is the noun in its 
simplest form. 

The dual
The dual is expressed by attaching the suffix /{   (een) to the noun. If the noun ends in $Xe'B  

$XD0!aS) ,  it is written and pronounced as H when the dual suffix is added.

The Plural

Country

9*0

<90/d'

$XhaL$5

$X+da9)

Masculine
9*0^

<90/d;

~aL$v;

Ñuda9;

Feminine
9*0/#)

<90/dZ#)

~aL$vZ#)

Ñda9Z#)

Egyptian
American
Sudanese

governmental

4e'G

S'XY)

4e'!Z{

S'XYeZ{

kitaabeen

Taalibateen

two books

two female students
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Arabic plural formation is not as straightforward as dual formation. A noun is made plural in one 
of two ways:
a. By adding a suffix. This is called sound plural. 
b. By an internal vowel change. This is called broken plural.

Sound plurals are of two types, too: masculine and feminine.
a. Masculine sound plurals are formed from nouns of masculine gender by adding the suffix /{  
(iin) to the noun. Most nouns pluralized in this way refer to humans. Many are derived from 
other words.

b. Feminine sound plurals, which are more common than masculine sound plurals, are formed 
from nouns of feminine gender, generally ending in $Xe'B $XD0!aS)  by adding the suffix $H  to the 
noun and dropping $Xe'B $XD0!aS) :

Many masculine nouns are pluralized as sound feminine plurals. 

 
Broken plurals 

<-Lv;

9`�"O

9bÄ#Ö

Jordanian

engineer

teacher

<-Lv#Z#Z{

9`�"~Z{

9bÄ#DZ{

<-LvZ#)

9`�"~)

Ç'9b)

ik9)

Jordanian (f.)

engineer (f.)

university

grade

<-LvZ#'H

9`�"~'H

Ç'9b'H

ik9'H

9w'-

$9e+'5

airport

test

9w'-$H

$9e+'v'H



10

These plurals are formed by changing the vowels of the word; the consonants are usually not 
affected. Think of the English words goose-geese,  foot-feet, woman-women. 

The use of the terms sound and broken to refer to plurals might be misleading, since it might 
suggest that sound plurals involve the majority of nouns. This is not the case, however. Broken 
plurals are at least as common as sound plurals and involve the most common types of nouns. 

Broken plurals follow patterns, some of which are more widespread than others. Some of the 
more common types are represented by the following words:

At this stage it is easiest for you to simply memorize the plural forms. In time and as you 
continue building your vocabulary, you will develop intuitions for the correct broken plural 
patterns.

Number: Uses
The Singular
A book or one book is expressed as 4e'G 1$Ñ"  or simply 4e'G , with the number following 
the noun it refers to or no number at all. (Note that 1$Ñ" 4e'G * is ungrammatical.)

The Dual

$XDuÜ0L

9de7f office

97wY7á kitchen

:7`0 month
17X7" boy

(2ÄàÖ film

<~YaU week
42e'G book

S'X2f student

$Xx7Dâ

9d'É2f

9w'!2á

:u`a-

<1äL

<(k]

<~'!Zâ

4ueuf

Suk#G

$XDuÜ0L

9wb7Ö restaurant

9047E center

!Zc  house
/a] day

y7Y70 news item

L4#'5 shop
9"/�) city

 4'É2f writer

$XxDâ

9w'i2Ö

90$42E

!uZaH

</#']

<yY'-

L4'4Z{

9u"5

4ue#'G
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“Two books” is expressed as 4e'!Z{ . Simply attach the suffix to the singular noun. $l�Z{ 4e'G  
is ungrammatical. (One exception is discussed below.)

The Plural
“Universities” is expressed as Ç'9b'H .  “3 Universities” is expressed as lkI Ç'9b'H . 

Note the following about number:
a. For the numbers 3-10, the plural form of the noun is used and the noun follows the 
number.
b. In :'9;  the É'B 90!aS)   of these numbers is dropped before the noun.

c. For the number 11 and above, the singular form of the nouns is used except if the digit 
before the last is zero: 1007 is read as <Xã 1~Yâ 4ef  while 1020 is read as <Xã 1i_0/{ 4e'G .
d. The suffix ?0  ar (a remnant of i_0 ) is added to the numbers 11-19 in :'9;  when a noun 
follows them.  

lkI 4ef

<-!â 4ef

i_0 4ef

lkI |Ü+'H

~Yâ |Ü+'H

i_0 |Ü+'H

thalath kutub

’arba‘  kutub

‘ashar kutub

thalath SafHaat

sabi‘ SafHaat

‘ashar SafHaat

three books

four books

ten books

three pages

seven pages

ten pages

$Ñ"$:0 4e'G

Éhbw':70 S'Xf

i_0/{ 4e'G

iHdaashar kitaab

tisi‘Taashar Taalib

‘ishriin kitaab

11 books

19 students

20 books
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e. The last number in the sequence determines agreement. So the plural form is associated 
with numbers like 103 and 9106 since the last digit in each of them takes the plural form.

åçé S'XY'H )9Z#) 1lkI S'XY'H(
èåçê Lv'vZ0  )Éhâ ëä8 19Z#) 1~c Lv'vZ0(

( S'XY'H  is the plural of S'XY)  and Lv'vZ0  is the plural of L/�'- .) 

éêí /a] )lkI 9Z#) 1yDh) 1~eZ{ /a](
åéç S'XY) )9Z#) 1lklZ{ S'XY)(
èååì L/�'- )Éhâ ëä8 19Z#) 1åì L/�'-(

In éêí the last number mentioned is ~eZ{ , in åéç, the last number mentioned is lklZ{ , and 
in èååì, the last number mentioned is $S�'P , all of which require the singular form of the 
noun. 
 
f. An exception to the above rules involves a few nouns mainly associated with foreign 
currencies (Dollar, Euro, Pound) and weights and measures (meter, kilometer, gram, 
kilogram) that violate this rule, as in the following examples:

$l�Z{ 4ZÄa= lkl) 4ZÄa= <-!b) L1ä-= i_0F /a-1

g. After 4Ö  “how many”, only the singular form of the noun is used:

<Xã 4e'G

yDhw':0 |Ü+)

9ÄZa5 |Ü+)

’alf kitaab

khamisTaashar SafHa

malyoon SafHa

1000 books

15 pages

1,000,000 pages
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5. Possession
Possession in Arabic nouns is expressed by attaching a pronoun suffix to the noun:

If the noun to which the pronoun suffix is attached ends in $Xe'B $XD0!aS)  ( ?) ), then a H replaces $Xe'B  
$XD0!aS) :

4Ö 1X" i�"7\î

4Ö t0() (; !ZedÖî

4Ö <K 1<yc i�"\î

 How many boys (children) do you have? 

How many rooms are in your house?

 How many brothers and sisters do you have?

4e'G +u?r

4e'G +C'

4e'G+CÖ

4e'G +7\

4e'G +2\

4e'G+4Ö

4e'G+^

4e'!ur

4e'!`'

4e'!`Ö

4e'!7ï

4e'!2ï

4e'!dÖ

4e'!;

kitaab-uh 

kitaab-ha

kitaab-hum

kitaab-ak

kitaab-ik

kitaab-kum

kitaab-i

his book

her book

their

your, m.s., book

your, f.s., book

your, pl., book

my book

~Z#'-F+ ?r

~Z#'-F +C'

~Z#'-F+CÖ

~Z#'-F +\

~Z#'-F +\

~Z#'-F+4Ö

~Z#'-F +^

~Z#'-F+^

~Z#'-Éur

~Z#'-É`'

~Z#'-É`uÖ

~Z#'-É7ï

~Z#'-É2ï

~Z#'-ÉduÖ

~Z#'-É;

~Z#'-É�'

sayyaara-t-uh

sayyaara-t-ha

sayyaara-t-
hum

sayyaara-t-ak

sayyaara-t-ik

sayyaara-t-
kum

sayyaara-t-i

sayyaara-t-na

his car

her car

their car

your, m.s. car

your, f.s. car

your, pl., car

my car

our car



14

Possession with i�"
The same set of suffixes used to express possession in nouns is also attached to the word 
i�"  to express possession in a way that parallels the use of the English verb to have in 

sentences like I have a Japanese car and he has two sisters.
 

Note that i�"v'  is often pronounced i2�#'  in :'9; . 

Possession with 9â
Like i�" , the preposition 9â  is used to express possession. The main difference is that i�"  
expresses possession in general, while 9â  expresses possessing or having something at the 
moment. 

i�"^ <Xã L1ä-.
9b; <Xã L1ä-.

The following table shows 9â  in combination with the different pronouns:

i�"p

i�"C'

i�"CuÖ

i�"7\

i�"2\

i�"4Ö

i�"^

i�"v'

‘ind-u
‘ind-ha

‘ind-hum
‘ind-ak
‘ind-ik

‘ind-kum
‘ind-i

‘ind-na

he has
she has

they have
you, m.s., have
you, f.s., have

you, pl., have
I have

we have

97bur

97bà`'

97bà`uÖ

ma‘u

ma‘ha

ma‘hum

he has

she has

they have
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Possession with W/$2W
Both i�"  and 9â  are used as prepositions in addition to their use as possessive particles. i�"  
is generally translated as “with” or “at”, while 9â   as “with”. A third preposition, W or $2W  
“for, to” is also used to indicate possession. There is a difference between (*+,  and :'9;  
in the way this particle is used, with :'9;  having two variants, one (W7 ) used with nouns 
and another ( $2W ) with attached pronouns, as shown in the following:

When prefixed to a noun, the particle is realized as W2  (li) in (*+,  and W7  (la) in :'9; :

97b7ï

97b2ï

97bàduÖ

97b;

97bà�'

ma‘ak

ma‘ik

ma‘kum

ma‘i

ma‘na

you, m.s., 
have
you, f.s., have

you, pl., have

I have

we have

:'9;

$2Xr

$2X`'

$2X`uÖ

$2X7ï

$2X2ï

$2XduÖ

$2X;

$2X�'

ilu

ilha

ilhum

ilak

ilik

ilkum

ili

ilna

(*+,

X7r

X`'

X`uÖ

X7ï

Xï2

XduÖ

X;

X7�'

lahu

laha

lahum

lak

laki

lakum

li

lana

(It belongs) to him

(It belongs) to her

(It belongs) to them

(It belongs) to you, m.s

(It belongs) to you, f.s.

(It belongs) to you, pl.

(It belongs) to me

(It belongs) to us
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6. Wanting with !"#  

The word !"#   is used in :'9;  in combination with a pronoun suffix (the same set of suffixes that 
are used to indicate possession) to express the equivalent of the English verb to want:

7. The Construct ( $%&'() ) 

When two nouns are closely associated, as in the case of possession or something being 
part of something else, they form a special grammatical construction called the construct 
( ñ&'() ). In an equivalent English phrase, the two nouns are joined by the possessive “’s” 
or the preposition “of”, as in the capital of Egypt or Egypt’s capital:

:'9;

X7d0/Ö

Xó~e'M

la-kariim

la-l’staadh

(*+,

X2d0/Ö

X2ó~e'M

li-kariim

li-l’staadh

for Kariim, Kariim’s

for the professor, the professor’s

!"#p

!"#C'

!2"#CuÖ

!"ò\

!"ô\

!2"#4uÖ

!"#^

!"#v'

bidd-uh
bidd-ha

bidd-hum

bidd-ak
bidd-ik

bidd-kum

bidd-i
bidd-na

he wants
she wants
they want

you, m.s., want
you, f.s., want
you, pl., want

I want
we want

4e'G $Xw'Xfthe student’s book
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The following two points about $%&'()  are important to remember. First, if the first word 
in the ñ&'()  construction ends in É'B 90!aS) , the É'B 90!aS)  is pronounced as a H and not just 
a vowel:

Second, the first part of the ñ&'()  never takes the definite article; it is made definite by 
association with the second part. So $Xx'9b) Édh'O *, $Xb'|D) ~a-/' *, and $Xö0() va] * are 
ungrammatical. 

Structurally, ñ&'()  is closely related to possession.  For example, the two points just 
mentioned about ñ&'()  (the pronunciation of $Xe'B $XD0!aS)  as H and the absence of the 
definite article on the first term) also apply in the case of noun + possessive pronoun 
combinations as in i'|De`'  (its capital, from i'|D) ) and 4e'!r  (his book, from 4e'G ), but not 

$Xb'|De`' * or $Xde'!r *.

A common ñ&'()  phrase is the one consisting of the word ~�)  “year” and a specific year, like ~�)  
åèêõ. . Remember to pronounce the É'B 90!aS)  as H in such phrases. 

The ñ&'() , the adjective phrase, and the equational sentence
It is important to distinguish the ñ&'()  from noun-adjective phrases and certain noun-noun 
and noun-adjective combinations that function as full sentences. The following examples 
illustrate the difference between these three types of structures:

i'|2D) 9*0The capital of Egypt, Egypt’s capital

Ç'9b) Édh'O

i'|D) ~a-/'

t0() va]

jaami‘at Texas

‘aaSimat suurya

ghurfat noom

The University of Texas 

the capital of Syria

bedroom
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8. Subject/Person Markers 
Arabic verbs have two tenses: the perfect and the imperfect. The perfect corresponds roughly to 

the past tense in English and generally indicates completed action, as in L-O  “he studied”, and 
the imperfect corresponds to the present tense and indicates actions that have not been 

completed, as in <L-O  “I study”.

Subject/Person Markers on the Perfect Verb
Different persons are expressed on the perfect verb by attaching different suffixes to it,  except in 
the case of the third person masculine singular (the one corresponding to he), where no suffix is 
attached:

Note the following:

ñ&'()

Noun-adjective phrase

Complete (equational) 
sentence

definite 

indefinite

i'|D) $X"1X)

$XD"/�) $XdYZ0F

9"/�) 4YZ0F

$XD"/�) 4YZ0F

the country’s capital, the 
capital of the country

the big city
a big city

The city is big.

Ca

C; 

CuÖò

$vc7 

$vc2 

$vàea

<v'

$2Ñà�' 

??

?7c

?a$

?àcà

?àc2

?ea$

?àc

?�'

4ef

4eY7cà

47e7Ya$

4eYàcà

4eYàc2

4eYàea$

4eYcà 

4eYà�'

katab
katab-at

katabu

katab-t

katab-ti

katab-tu
katab-t

katab-na

he wrote
she wrote

they wrote

you, m.s.  wrote

you, f.s. wrote

you, pl. wrote
I wrote

we wrote
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1.  The conjugations of $vc7  and <v'  in the perfect are identical.

2. In the Arabic grammar tradition, the conjugation of verbs proceeds from the third 
person to the  second and first persons. 
3. The third person singular masculine form, the Ca  (he) conjugation is the simplest.

Subject/Person Markers on the Imperfect Verb
Different persons are expressed in the imperfect verb by attaching a prefix or,  in some cases, 
both a prefix and a suffix to the verb:

The prefix b- is attached to imperfect verbs in :'9;  when these verbs are not preceded by another 

verb or words like !"# :

Note also that in place of the English infinitive Arabic uses fully conjugated verb forms (without 
G):

Ca

C; 

CuÖò

$vc7 

$vc2 

$vàea

<v'

$2Ñà�' 

/?2-

É?2-

/?-?a$

É?2-

É?2-^

É?-1$

<-

v?-

/def

Édeuf

/deuYa$

É2deuf

ÉdeuY;

ÉdeYa$

<4ef 

vdeuf

yi-ktub

ti-ktub

yi-ktub-u

ti-ktub

ti-ktub-i

ti-ktub-u

’-aktub

ni-ktub

he writes, is writing

she writes, is writing

they write, are writing

you, m.s.  write, are writing

you, f.s. write, are writing

you, pl. write, are writing

I write, am writing

we write, are writing

Ca !ZÄb7f. 

Ca !Z+f# /Äbf.
ñM$ !"#\ É'4}

He plays, is 
playing.

He likes to play.
if you want to eat
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Root Types 
Arabic words are divided into three main categories: verbs, nouns, and particles. Particles are 
words or parts of words like prepositions, conjunctions, the definite article, question words, and 
other “function”  elements. Verbs and nouns are the main categories, which include the great 
majority of words in the language. All verbs and most nouns derive from three- or, less 
commonly, four-letter roots. The latter will be excluded because of their rare occurrence in this 
book. 

Three-consonant roots are divided into the following five types:
Sound roots have three consonants in the three consonant positions, no doubling of any two 
consonants, and no 1, $ ,  or ú in any of the three root positions. Roots like  \.H.G  “to write”, 

U.-.8  “to know”, and  O.].U  “to hear” are sound roots.

Assimilated roots have 1 in the first root slot, as in 1.J.L  “to find”.

Hollow roots have 1 or ^ in the second root slot, which is often realized as $ in the perfect tense 
of the verb:

!Z+f /h'(0.
!e+f É'4} (; $XDwbÖ.

!"v' vE1- 9*0.
!"<H ÉöÄY�;.
9Dd{ /da5 C�'\.

He likes to travel. (He likes he travels)
She likes to eat in the restaurant. (She likes she eats)
We want to visit Egypt. (We want we visit)
She started to beat me (in a game).
He might be there.

Root

[.1.W

\.1.5

S.^.-

Verb

6'W-/maW

4'5-/da5 

S'--/wZ0

to say

to be

to fly
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Lame roots typically have ^ or 1 in the third root slot, which are mostly realized as ú( $Xã  
9m*a-F , pronounced exactly like $) in the perfect form of the verb.  

Doubled roots have the same consonant in second and third positions:

All verbs derived from the same root type follow the same conjugation pattern. An example of 
the conjugation of verbs derived from sound roots was shown in the different forms of 4ef  
above. Assimilated roots, which are quite rare, generally behave like sound roots, with an 

exception discussed below under The Imperfect of Assimilated Roots in (*+, .  The conjugation 
of the verbs derived from the other roots types is shown in the following tables.

Root

].P.^

L.U.1

..\.^

Verb

9_,-/D_;

Li'-/"ia//"i; 

Ñd,-/+d;

to walk

to invite

to speak

Root

].-.-

..G.G

Verb

90#-/Du0#

Ñ7f#-/+2f# 

to pass

to like, love

Ca

C;

CÖ

$vc7

$vc2

Hollow

Perfect

:'8

:'(7c

:'(a$

:uÜcà

:uÜc2

Imperfect

/_a8

É_a8

/_a(a$

É_a8

É_a(;

Lame

Perfect

97_,

97_7c

9_a$

97_Zc

9_Zc2

Imperfect

/D_;

ÉD_;

/2D_a$

ÉD_;

ÉD_;

Doubled

Perfect

970#

90òH

970#1$

970#/cà

970#/c2

Imperfect

/Du0#

ÉDu0#

/Du0#1$

ÉDu0#

ÉDu0#^
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Notes about the table

1. The $ of hollow verbs is deleted in the second ( $vc7= $vc2= $vea ) and first person conjugations ( <v'=  
$Ñ�' ) and is replaced by  ?u   ( &D#) ) in the perfect.

2. Whereas the vowel of the perfect of hollow verb is always $, it can be realized as  $, ^ , or 1, in 
the imperfect depending on the individual verb. There is no general rule determining what vowel 

a certain hollow verb takes in the imperfect; there are 1 verbs as in 6'W-/maW  “to say”, ^ verbs as in 
S'--/wZ0  “to fly”, and $  verbs as in v']-/�']  “to sleep”.  In terms of frequency, 1 verbs are the most 

common, followed by ^ and $  verbs, in that order. 

3. Final ú of lame verbs is deleted in the third person conjugations ( Ca= C;= CÖ ) and is changed 
to ^ in the second and third persons in the perfect

4. Final ú of lame verbs is changed to ^ in the imperfect, except in the cases where the plural 
suffix 1$  takes over.

Ç'B-/x;B/<Ç' /Zx;
The verb <Ç'  “he came”- /Zx;  “he comes”, is one of the least regular verbs in Arabic. The best way 
to learn it at this point is simply to try to memorize its different conjugations. The following table 
shows its conjugation in both :'9;  and (*+, . (Note that v+{  and $veÖ  in (*+,  are the equivalents 
of $Ñ�'  and $vea  in :'9; , respectively.)

$vea

<v'

$Ñ�'

:uÜea$

:uÜcà

4u�#'

É_a(a$

<:a8

v7_a8

9_Zea$

9_Zc

9_Z�'

ÉD_a$

<9_;

vD_;

970#/ea$

970#/cà

970#/�'

ÉDu0#1$

<9u0#

vDu0#

Ca

C;

CÖ

$vc7

$vc2

:'9;

Perfect
<Ç'

<Ç7c

<Ça$

ÇZc

 ÇZc2

Imperfect
/Zx;

ÉZx;

/Zxa$

ÉZx;

ÉZx;

(*+,

Perfect
Ç'B

Ç'BH

Ç'B1$

Ç2ùc

 Ç2ùc2

Imperfect
/x;B

Éx;B

/xZû5//xZû$
Éx;B

ÉxZùZ{/ÉxZù;
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9. The Imperfect of Assimilated Verbs  in (*+,  
Assimilated verbs such as 16â  “to be located”, 1|}  “to arrive, reach”, and 1Ç"  “to find”  lose the 

initial 1 in the imperfect form of the verb in (*+, . A commonly used verb is /mâ  “is located”, 
which derives from the root 1.[.U . In :'9;  such verbs behave like sound verbs, as in /aÇ7"  
“he finds”, and /a|7}  “he arrives”.

10. -$.-/01.--$/23    
Whereas -uÑc  (I went), and <-1.  (I go) are verbs, the related word -$/3  is not. It is in fact a 
noun, “a goer”, although the English translation may render it as verbal:  “going”.  It is 
grammatically treated like a noun or an adjective and not a verb. That is why in a 
sentence like: ñ/ü -$/+) É"-~;î  “What are you going to study?”, -$/+)  ends in É'B 90!aS)  and 
does not have the prefix and suffix characteristic of the imperfect form of the verb. The 
following table compares the different forms of -$/3  as a noun with those of another noun 
9h'(20  “traveler”. 

The verb following -$/3  (or its derivatives) is in the imperfect tense and is fully inflected 
for person. It also carries future meaning such as “going to study”.

$vea/<veuÖ

<v'

$Ñ�'/v+{u

ÇZea$

ÇZcà 

ÇZ�'

ÉZxa$

ëÇ;

vZx;

Ç2ùeuÖ

Ç2ùcu 

Ç2ù�'

ÉxZùa5

<Ç;B

vx;B

m.s.

9uh'(20

-$/23

f.s.

9h'(20F

-$/+)

pl.

9h'(0/{

-$/+Z{

traveler

going (a goer)
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11. Referring to the Future
Future time is indicated in Levantine by placing the word  -$/23  (going) before the imperfect form 
of the verb:

In  (*+, , the future is formed by attaching the prefix O to the imperfect form of the verb or 

placing the word ~a8  before the verb. ~e†yq  and ~a8 É†yq  mean the same thing: “she will take”.

12. Moving to the Past with 4'5
4'5  (with its conjugations) is used to “move” the time of an event or a situation to the past, as 

shown in the following examples:

-$/3 /"-O
-$/+) É"-O

-$/3 É"-O

-$/+) É"-~;

-$/3 <L-O

Ca

C;

$vc7

$vc2

<v'

-$/3 <:a(r 

-$/+) É_e0^ ~0/0 $XZa]î

“I am going to see him.”

Are you going to by a bed today?

-/Ö ~a87 É†yq $9e+'5 $XeaÇZ`; (; :`0 
ÑuE/0$5.

/maXa5 ñ5# $Xwmg ~ZeöZ#0 !b" :`0 <1 
:`0/{.

Reem will take the Tawjiihi exam in the month of 
June

They say that the weather will change in a month 
or two.

i2�à"p  he has4'5 i�"p  he had
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When 4'5  is followed by a verb in the imperfect,  both 4'5  and the following verb are conjugated 
and the combination is translated in the simple past or the past progressive:

13. 67"   

This particle is found only in (*+,  and has two distinct uses, one when followed by a verb in 
the imperfect and another when followed by a verb in the perfect tense. There are no examples of 
the first type in this book, so it will not be discussed any further. 

When 6"  is followed by a verb in the perfect, it simply affirms that the action has taken place;  it 
does not translate into anything in English, as in the following:

14. 8

9b;  I have
!"#^ I want
<v' ÉbY'5  I am tired
äN]  it is necessary that, 

must

4'5 9b; )I had (with m
4�c !"#^ I wanted
4u�c ÉbY'5  I was tired
4'5 äN] it was necessary, ought to

4u�àc <i028...

4'5 $Xh'>Å /edÄ#Ö ...

4�c <(d#0...

4�c <-/"...

I knew, used to know...

The driver was speaking... 
I thought, I used to think

I wanted

16" 1$Çr $XwkG $Xq/{ L-~a$ $XÜ*+, (m° 
|ba!'H <4j0 9�#;

...(m" 4'vc C�'\ $yek('H lm'(Z#)...

The students who studied (*+,  only faced 
more difficulties than I did.
as there were cultural differences...
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The conjunction 8 is similar in many respects to 1 “and”. The main difference is that 8 
could also mean “so”,  “since” or “because”, depending on the context.

8 is also used in conjunction with <9#'  “as for” to express a contrast; in this sense, it does not have 
an English equivalent:

Note that <9#'  and 8 constitute one structure, so when you see <9#'  look for 8, which will be 
prefixed to a word that follows in the sentence.

15. Separate and attached pronouns
Arabic distinguishes two sets of pronouns that are inflected for number (singular-plural) and 
gender (masculine-feminine):
The first set consists of personal pronouns, which are not attached to other words. These include:

Ca= C;= CÖ= $vc7= $vc2= $vea )(*+, ”<veuÖ“(= <v'= $Ñ�' )(*+, ”v+{u“(

These pronouns are often omitted because subjects in Arabic are marked by prefixes and suffixes 

on the verb. So in a phrase like Ca /"-O , the prefix ^ of /"-O  is sufficient to identify the 
subject of the verb and Ca  can be omitted. 

The second set consists of pronouns that are always attached to a noun, a verb, a preposition, or 

another particle such as ñ5# ,Xd{ ,n5 ,i�", !"# , etc. These pronouns cannot be omitted. They include: 

p= C'= CÖ= \7= \2= 4uÖ= )5(^= v'

$X_m#) XZhc v¢ZÜ) 4jZ0$£= ('Xdef 1$XDk!g 
1$Xd'~'H 1$X*+a5 (; 4}# 9d'5. 
1Xd�#; XÖ $Ç"p= (m0#-H <5 $É#*} !06D;.

The apartment is not very clean as books, 
clothes, cups, dishes [were] everywhere.
But I did not find it, so I decided to call my 
number.

<9#' $§5 (`; 9DÄaBF !'XhZ#'-$H 1$XY�'/'H $Xb'XZ)As for now, it is full of cars and high 
buildings.
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When attached to nouns, these pronouns convey the meaning of possession (his, her, etc.), as was 
seen above. When attached to verbs or prepositions, they function as object pronouns (him, her, 

etc.). When attached to conjunctions like Xd{  and n5# , they function as subjects of clauses 
following these conjunctions ( Xd�#r  “but he”, nv#r  “because he”, etc.)

Pronouns attached to verbs
Perfect Verbs

Imperfect Verbs

)Ca( ~†W

He 
asked

~†Xur

~†Xà`'

~†Xà`uÖ

~†X7ï

~†X2ï

~†XàduÖ

~†Xà�;

~†Xà�'

He asked him.

He asked her.

He asked them.

He asked you, m.s..

He asked you, f.s.

He asked you, pl.

He asked me.

He asked us.

)CÖ( ~†Xa$

They asked

~†Xap

~†XaC'

~†XaCÖ

~†Xa\

~†Xa\2

~†XaCuÖ

~†Xav;

~†Xav'

They asked him.

They asked her.

They asked them.

They asked you, m.s.

They asked you, f.s.

They asked them.

They asked me.

They asked us.

 )CÖ( )G(/_a(a$

They see
!Z_a(ap

!Z_a(aC'

!Z_a(aCuÖ

!Z_a(a\

!Z_a(a\2

They see him.

They see her.

They see them.

They see you, m.s..

They see you, f.s.

)C;( )G(É+2f#

She likes
!e+2Y#r

!e+2Y#̀'

!e+2Y#̀uÖ

!e+2Yòï

!e+2Yôï

She likes him.

She likes her.

She likes them.

She likes you, m.s.

She likes you, f.s.
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Note the following:
1. The object pronoun follows the subject marker. So think of the verb with the object pronoun as 
being constructed in two steps: 

a. construct the verb with its subject marker,
b. attach the object pronoun.

2. The object pronoun for me is v;  not just ^, as in the possessive: ~†X�;  “he asked me”.
3. The $ at the end of the plural forms of the verbs is dropped when the object pronoun is 

attached: ~†XaC'  “they asked her”.
4. When the verb ends in a vowel like ~†Xa$  “they asked”, a 4h0F  is added to the feminine, 
singular, second person suffix ( ~†Xa\2  [sa’aluuki] “they asked you, f.s.) 
5. When the subject marker H2  (you, f.s.) is followed by a suffix, the 4h0F  in it is lengthened to 

^, as in the following:

Pronouns attached to prepositions

You have already seen tables which show pronouns attached to i�"  and 9â , the same set of 
pronouns are attached to other prepositions like , (Zr= 9{, i{= iÄ,, W/$2W
The pronoun suffixes that are used to indicate possession ( i�"^= 4e'!`' ) are also attached to 
prepositions to express the equivalent of English constructions consisting of a preposition 
and an object pronoun such as on it,  in them, to you,  etc.

!Z_a(a4uÖ

!Z_a(av;

!Z_a(av'

They see you, pl.

They see me.

They see us.

!e+2Y#duÖ

!e+2Y#�;

!e+2Y#�'

She likes you, pl.

 She likes me.

She likes us.

6uÄc2 you, f.s., said

4eYc2 you, f.s.,  wrote

6uÄeZr you said it 

4eYeZ`' you wrote it

6uÄeZÄ; you said to me

4eYeZÄ; you wrote to me

CaC;CÖ$vc7$vc2$vea/$veuÖ<v'ñÑ�'/v+{u
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Pronouns Attached to Conjunctions
Xd{  “but,” n5#   “because,” and  ñ5#  “that” (as in “She said that …”)

16. The Arabic sentence and word order
Arabic sentences are of two general types: those with verbs and those without verbs.   Sentences 
that have verbs are called verbal sentences, and sentences without verbs are generally referred to 
as nominal or equational sentences.

Equational sentences

Note the absence of the equivalent of the English verb to be. The Arabic sentence literally 
translates as The smoking prohibited.

(;

iÄ,

9{

i{

!b"

6Y}

(Zr

iÄZr

92�#r

i7�àr

!b"p

6YÄr

(Z`'

iÄZ`'

92�`'

i7�`'

!b"C'

6YÄ`'

(Z`uÖ

iÄZ`uÖ

92�`uÖ

i7�`uÖ

!b"CÖ

6YÄ`Ö

(Zï

iÄZï

92�#ï

i7�ï7

!b"\

6YÄï

(Zï2

iÄZï2

92�#ï2

i7�ôï

!b"\

6YÄï

(ZduÖ

iÄZduÖ

92�duÖ

i7�duÖ

!b"4Ö

6YÄdÖ

(;# 

iÄ;#

92�#;

i7�#;

!b"^

6YÄ;

(Z�'

iÄZ�'

92�#'

i7�#'

!b"v'

6YÄ�'

ñ5#

n5#

Xd{

Ca

ñv#r

nv##r

Xd�#r

C;

ñv#̀'

nv#̀'

Xd�#̀'

CÖ

ñv#̀uÖ

nv#̀Ö

Xd�#̀Ö

$vc7

ñv#ï

nvòï

Xd�#ï

$vc2

ñv#ï

nvòï

Xd�#ï

$vea/$veuÖ

ñv#duÖ

nvòdÖ

Xd�#duÖ

<v'

ñv#;

nv#;

Xd�#;

$Ñ�'/v+{u

ñv#'

nv#'

Xd�#'

$Xe"yZ{ 9D�aU.Smoking is prohibited.
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Remember that you cannot start an Arabic sentence with an indefinite noun.  One way to avoid 
this in an equational sentence that consists of an indefinite subject and an adverb or a 
prepositional phrase, is to place the indefinite subject after the adverb or prepositional phrase.  
Another way is to add C�'\  'there is', before the indefinite noun.

Pronouns of Separation
Equational sentences often have a pronoun that agrees with the subject in number and gender. 
This pronoun is called “pronoun of separation” because it separates the subject from the 
predicate. Pronouns of separation are generally found when the predicate of the sentence is a 
noun rather than an adjective. Note that the sentence is grammatical with and without the 
pronoun. 

Verbal sentences
There is a certain amount of flexibility in the word order of verbal sentences: it is common for a 
verb to precede or follow its subject. The following two word orders are grammatical, both 
meaning “Many Jordanians own private cars”. 

 /+d; $XÜÄÖ 6*#) ~Z#"F (ÄhwZ�Z).
 $XÜÄÖ /+d; 6*#) ~Z#"F (ÄhwZ�Z).

Verb-object-subject order
An interesting word order in verbal sentences is observed when the object of a verb is a pronoun. 
The pronoun in such a case is attached to the verb, resulting in a verb-object-subject sequence. 

(; $X_m#) lkI t08 va]

C�'\ |ba!'H 4jZ0F

There are three bedrooms in the apartment.

There are many difficulties

1$X�aU $nyZ0 Ca ~Z#'-$H $Xh0(Zg.  

$XD_dÄ) C�' C; 62Ä#) $XD'B.

The last type is service cars

The problem here  is the scarcity of water.
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The following three sentences are all grammatical: 

Non-human Plurals

Adjectives describing humans generally agree with the nouns they modify in gender, 
number, and definiteness:

Non-human plural nouns, particularly in (u*+, , are grammatically treated as singular feminine 
nouns:

Verb-Subject (Dis)agreement
Arabic sentences may start with the verb or the subject.  In (*+, , a verb that precedes the subject 

/"-O $Xwk#G (; $Xx'9b'H iÄa] $X"/{ 
$%~k9; 1$XÄö) $Xb0!Z).

/"-O $XwkG (Z`' iÄa] $X"/{ $%~k9; 1$XÄö) 
$Xb0!Z).

/"-O (Z`' $Xwk#G iÄa] $X"/{ $%~k9; 1$XÄö) 
$Xb0!Z).

The students study in the universities the sciences of the 
Islamic religion and the Arabic language.

The students study in them the sciences of the Islamic 
religion and the Arabic language.

The students study in them the sciences of the Islamic 
religion and the Arabic language.

S'Xf i0!;

S'XY) i0!Z#)

S'XY'H i0!Z#'H

$Xw'Xf $Xb0!;

$Xw'XY) $Xb0!Z#)

$XDaT#ÜZ{ $X+da9Z#Z{

an Arab male student

an Arab female student

arab female students

the Arab (male) student

the Arab female student

the government employees

$XÜ�'L[ t'XZ)

:mÅ -yZ*) Ñ"/j)

Cqp $n/#']

(The) hotels are expensive.

Inexpensive modern apartments

These days ( Cqp =this, feminine)
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remains in the singular even when the subject is in the plural. (This rule does not apply in :'9; .)

/maW $X�'O C�' ñ5# $9e+'5 $XeaÇZ`; 9`Ö# Ç"#$£.
/"-O (Z`' $Xwk#G iÄa] $X"/{ $%~k9; 1$XÄö) $Xb0!Z).

If the subject-verb order is used, then the verb agrees in number with its subject:

$X�'O C�' /maXa5 ñ5# $9e+'5 $XeaÇZ`; 9`Ö# Ç"#$£.
$Xwk#G /"-~a5 (Z`' iÄa] $X"/{ $%~k9; 1$XÄö) $Xb0!Z).

17. Negation

Negation in :'9;

A distinction is made between negation of verbs and non-verbal elements such as nouns, 
adjectives, adverbs and prepositional phrases. The general rule is that verbs are negated 
with 9'  and non-verbal elements are negated with 9ü . 

But, 

The main exceptions to these rules are the high-frequency words: i�"  “to have”, !"#   “to want”, 9â  
“with as a preposition and in the sense of to have”, and (Zr  “there is, there are”. These words are 
not verbal but follow the verbal negation pattern, i.e.  by using 9' .

~'(0

!Z+d;

He traveled

He speaks

9' ~'(0

9' !Z+d;

He didn’t travel

He doesn’t speak

S'Xf

4YZ0

Ca5

9{ vZa/a-\

student

big

here

from New York

9ü S'Xf

9ü 4YZ0

9ü Ca5

9ü 9{ vZa/a-\

not a student

not big

not here

not from New York
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Negation in (u*+,  

As in :'9; , negation rules in (u*+,  distinguish between two main categories: verbs and non-

verbs (nouns, adjectives, prepositional phrases). Unlike :'9; , which uses only 9'  to negate verbs 
regardless of tense, (u*+,  uses different particles for the different tenses:

1. To negate verbs in the perfect (past) tense, either 9'  or, the more formal XÖ , is used. With 9' , the 
verb remains in its perfect form. With XÖ , the imperfect form is used. This is similar to English 
negation of past tense verbs, as in He traveled,  but  We didn’t travel (compare traveled with 
travel).

The following changes accompany the use of XÖ :
1. Final 5 is lost in plural verbs, as in  XÖ /hewZba$ $Xe+"#I 9â $X�'O (; $XY"$/)  “they couldn’t 
converse with people at the beginning”. (The 5 of /hewZba5  is dropped and replaced by $, 
which is silent.)

2. The long vowel of a hollow verb in the imperfect is shortened in pronunciation and dropped in 

writing ( Éda5  is changed to Édu{ ).

9' i�"^ !Zc 4YZ0.
9' 9br (ÄaO 4jZ0.
9' (Zr 9w'- (; ñ-!".
9' !"C' É01..

I don’t have a big house.
He doesn’t have a lot of money. 
There is no airport in Irbid.
She doesn’t want to go.

~'(0 he traveled9' ~'(0 
XÖ /h'(0

he did not travel

$XD_dÄ) XÖ Édu{ <90/d' <1 ñ~0$>Z} <1 
$XkÇùZ{

The problem was not America or Israel or 
the refugees
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3. To negate verbs in the imperfect (present), ä is used:

Nonverbal elements are negated by using XZg   or tZ0 , which correspond to 9ü  in :'9; . 
The particle tZ0   is used only with adjectives, and XZg  is used with adjectives, nouns, and 
prepositional phrases. Unlike the other negation particles, XZg  is conjugated as a verb in 
the perfect tense. There are only a few instances of XZh7c  “she, it is not” in the reading 
passages. 

18. Prepositions Followed by 9'  
Prepositions are generally followed by nouns. However, when prepositions such as #$%  are 

followed by a verb, &'  is inserted between the preposition and the verb::

6Y} $X¢`0 before noon (preposition + noun)

but,
6Y} 9' 1|} before he arrived (preposition + vern)

9'  does not add to the meaning of the preposition, so 6Y}  and 6Y} 9'  mean exactly the same thing. 
Other words (prepositions and nouns functioning like prepositions) that behave in a similar way 
and that you will encounter in this book are: !b"   “after”, <1#W  “first”, !"W   “instead”, !"15   
“without”,  and 9j}   “like, as”.

ä <i08 9'M$ <iD}.I don’t know what to do.

tZ0 9b018
Cq$ XZg 9`D#' X;.
(; -</; XZg C�'\ <4Ä) $SZ#f 9{ $XÜaW $XD*0^

not known
This is not important for me.

In my opinion, there is not a tastier dish than 
Egyptian fava beans.



35

19. The Comparative and Superlative

The comparative and superlative forms of adjectives (equivalent to English more and most, 
respectively) have the same structure: <(b7}  (’af'‘al) of the corresponding adjective:

The comparative is generally followed by the preposition 92{ ,  and the superlative directly 
followed by the noun being compared, as shown in the following table:

Note that the comparative/superlative form does not change as a function of gender 
(masculine/feminine) or number (singular/plural).

Note that ( <6}# )9{  is the comparative/superlative form of 6ÄZ}  “few, little”. It looks different from 
other comparative/superlative forms because it is derived from a “doubled” root in which the 
second and third consonants are identical.

4YZ0-<4Y70  

!'-L-<!07L  

big-bigger, bigger

c o l d - c o l d e r , 
coldest

Al-Salam Restaurant is cleaner than al-Sha‘b 
Restaurant.
Food in al-Quds Restaurant is the tastiest in 
Amman.

9wbÖ $Xhk] <v¢ã 9{ 9wbÖ $X_bf. 

$n4} (; 9wbÖ $Xm"O <SZf <4} (; 
iD#'5.

$Xo•'- C�' <SZf 9{ $Xo•'- (; <90/d'.

<4Y0 9_dÄ) 1$Ç`e`'

<4j0 -4#'G Cqp $XY'|'H 9{ $XDaT#ÜZ{ $X+da9Z#Z{

The vegetables here are tastier than the 
vegetables in America. 

the biggest problem I faced

Most of the passengers in these buses are 
government employees. 
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A key distinction between the comparative and superlative usage is the place of the preposition 
9{ . When the comparative meaning is intended 9{  follows the adjective. When 9{  precedes the 

adjective it has the superlative meaning and the phrase translates as of the most, or among the 
most, as in the following: 

20. The Imperative (in :'9; )

The imperative form of the verb in :'9;  is derived from the imperfect form following two  steps:
1. drop the imperfect prefix,
2. insert a vowel if the resulting form begins with a two-consonant sequence.

Three exceptions

Although the two verbs <yq ,“he took,” and <4} ,“he ate” generally behave like sound verbs in the 
perfect and imperfect conjugations, their  imperative forms do not follow the rules above. 
On the other hand, the imperative form of the verb “to come” is not based on the verb <Ç'-
/Zx; , but is derived from a different source altogether. All three imperative forms should 

be learned as exceptions.

iD#'5 <4Y0 9{ ñ-!".

ñ-!" 9{ <4Y0 $XDu"u5 $n-LvZ#).

9{ <CÖ# 1<6"] 90$4E $XebÄZÖ (; 
$Xb'XÖ $Xb0!; lkI Ç'9b'H.

Amman is bigger than Irbid.

Irbid is among the biggest cities in Jordan.

Among the most important and most ancient centers of 
learning in the Arab world are three universities.

imperfect form

Édeuf

tiktub

you, m.s. write

ÉmaW

taKuul

you, m.s. say

removal of 
imperfect prefix

4euf

ktub

6aW

Kuul

Imperative form

$4euf

iktub/uktub

Write!

6aW

Kuul

Say!
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21. The Case System
Nouns and adjectives in (u*+,  may have one of three cases, depending on their function in the 
sentence: nominative, accusative, or genitive. The rules of case assignment are numerous and can 
be quite intimidating to the learner. Fortunately for you as an Arabic student, the colloquial 

varieties, such as :'9; , do not have a case system. The relevance of the system increases as your 

writing skills develop because writing in Arabic is accomplished mainly in (*+, .

Different degrees of mastery are required for different functions and purposes. In this book, only 
those aspects of the case system which are believed to be clearly applicable and essential for 
reading and writing (u*+,  will be presented. These include aspects of the system that affect the 
shape of the written word. 

The accusative ending $£

Words ending in $£  can be divided into two groups. The first group includes adverbs that 
never change: :d0$£= iÜa$£= SYb'£= y*a|'£  and similar adverbs of manner, place, and time. The 
second group are singular, masculine, indefinite nouns and adjectives when they function 

either, a. as the object of a verb in verbal sentences, as in #()* +,-.'/ 01 234(567  “I read an ad in 

the newspaper” ( +,-.'/  is the object of the verb #() ) or, b. as the second element in a nominal 

sentence (the predicate) when particles such as 389: ;'<: ='>  are part of the sentence: 

Perfect-
imperfect

<yq-/'yuq
<4}-/'4u}
<Ç'-/Zx;

Imperative

yuq= yuq^
4u}= 4uÄ;
É7b'W-É7b'X;

$Xwmg Ñ'-. The weather is hot4'5 $Xwmg Ñ'-$£. .The weather was hot

|'- $Xwmg Ñ'-$£. .The weather became hot
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Plural case markings:
Words such as &?@A  and XY�'v;  have two possible plural suffixes - !"  and - 15 . The subject of a 

sentence usually takes the plural suffix - B<  while the object of a verb or a preposition and the 

second element of a nominal sentence with ='>: ;'< , or XZg  takes the suffix - !" :

22. Passive Voice in (*+,  
Passive meaning can be expressed in (u*+,  by changing the vowel patterns of verbs. Such 
passive formation does not exist in :'9; , which expresses passive meaning by using certain verb 
forms and one nominal form. These forms, also used in (*+,  will be discussed below in the 
sections on verb forms and noun patterns.  

The following table shows the (*+,  passive verbs with a changed vowel pattern found in this 
book and their active counterparts:

23. Relative Pronouns

XZg $Xwmg Ñ'-$£. .The weather is not hot

/hd{ $XDhZ+Z#a5 (; $nÑZ'B $X_06Z#).

|'- ~d#'5 Ç0O 9hÄDZ{. 

 The Christians live in the eastern neighborhoods.
The inhabitatns of Jerash became Muslim(s).

Passive

!u�2;

/ube7Y70

~uD23

Mu420

buniy

yu‘tabar

sumiH

dhukir

it was built

it is considered

it was allowed

it was mentioned

Active

!7�,

/be7Y20

~7D73

M7470

banaa

ya‘tabir

samaH

dhakar

he built

he considers

he allowed

he mentioned
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The word who in the sentence The student who was first in the class received a prize is called a 
relative pronoun. Other English relative pronouns include which, that, whose, and whom. The 
equivalent of all of these pronouns in :'9;  is $XÄ; . In (*+, , distinctions are made between 
masculine and feminine and between singular, dual and plural relative pronouns. Only the three 

(*+,  relative pronouns commonly used are introduced in this book. These are $Xq^ , $Xe; , and $Xq/{ .

One difficulty that students of Arabic often have involves what is called the resumptive pronoun. 
This pronoun appears in phrases like $n~ùÄ) $XdjZ0F $Xe; /h†X`' $X�'O  “the many questions that people 
ask (them)” and É'4h; $Xh0(Zg $Xq^ -4Yer  “the service taxi that I rode (it)”. 

Another difficulty for some learners lies in the use of the equivalent of English that. Consider the 
following two sentences: 

The meaning of that in the first sentence is quite different from its meaning in the second. In 
Arabic, the first that is translated as ñ5# , while the second is translated as $Xq^( $XÄ;  in (*+, ).  

24. Roots and Patterns
Arabic verbs and nouns are derived from roots of three or four-letter. Four-letter roots have been 
excluded from the present discussion because of their rare occurrence.

Roots are the basic elements of meaning, and words derived from the same root represent 
extensions or modifications of the basic meaning of that root. For example, the root \.H.G   has 
the basic meaning of “writing”. The following list includes some of the words derived from this 

$Xq^

$Xe;

$Xq/{

Who, that, which (masculine, singular)

Who, that, which (feminine, singular)

Who, that, which (masculine, plural)

She said that she uses public 
transportation. 

This is the bus that I take every day.

6'Xc $v#̀' ÉhebD} $XDa$|kH $Xb'9#).

Cq$ Ca $XY'Q $Xq^ )$XÄ;( <-4Yr 4}# /a].
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root and their meanings:

Derived words follow specific patterns, which are generally associated with specific meanings. 
For example, 4'É2f  follows the pattern of the doer of an action (writer); 9deaG  the recipient or 
result of the action (written), and 9de7f  the place of the action (office). Other words following the 
same pattern have corresponding meanings as in -$42f  (rider, passenger), 904aG  (ridden), 97047f  
(raft). 

The (b}  Skeleton
When discussing verb and noun patterns, Arab grammarians use the three letter 
combination (b}  to refer to the three letters of the root, 8 for the first letter, U for the 
second letter, and W for the third. Patterns are created by adding specific consonants and 
vowels in specific places to these three root letters. 
So 4'Éf  and -$4f  belong to the ('i}  pattern, 9deaG  and 904aG  to the 9ÜbaW  pattern, and 9def  
and 904f  to the 9Üb}  pattern. 

This root and pattern system that Arabic (and other Semitic languages) has is particularly helpful 
in acquiring new vocabulary. A limited number of roots, combined with a limited set of patterns 
produce the great majority of words.

25. The Arabic Verb Forms

4e7f  
$vàd7e7f  

97deaG  

42e'G  

9ud'É7Y)  

97de7Y) 

he wrote
it was written

something written, a letter

book

correspondence

 library, bookshop

4'É7f

4'É2f 

42e'!)

4ue7Zôf

97de7f  

4ue#'G  

  to correspond
 writer

writing

 booklet 

office

old Qur’anic school
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The thousands of verbs used in Arabic follow a surprisingly small number of patterns or forms. 
While examples of 15 verb forms can be found, only twelve are considered productive in 
Modern Arabic, ten based on three-consonant roots and two on four-consonant roots.  Only the 
eight most commonly used forms, all based on three-consonant roots, will be presented here. 

The most common verb form is the simplest, (7b7} . It consists of the consonants of the three-

consonant root represented by (b}  and accompanying short vowels, as in  4ef, 4'5, 1|}, !"<, L-O  , 
etc. 

Other forms are constructed by modifying the (b}  structure in specific ways, such as 
doubling the second consonant, inserting $  between the first and second consonants of the 
root, adding a prefix, or a combination of these. The modification of the shape of the root 
generally corresponds to a modification in the meaning. So, for example, L-7O , which is a  
(b}  verb, is translated as “he studied”, but L-#O  (created by doubling the middle consonant 

of the root), translated as “he taught or made someone study” is a (b#}  verb, etc.  (b#}  verbs 
often have a causative meaning “to cause to study”.

In place of (b}  and its derivatives, used by grammarians working in the Arabic tradition, Western 
scholars of Arabic use a system of roman numerals I-X to refer to the different verb forms. 
According to this system, (b7}  is Form I,  (b#}  is Form II, ÉÜb#}   is Form V, etc. In some dictionaries, 
such as the one most commonly used by foreign students of Arabic, A Dictionary of Modern 
Written Arabic, only the form numbers are given under the root and the verb form itself or its (b}  

representation. For example, under the root iÄÖ , II refers to the Form II verb iÄ#Ö  “to teach” and V 
to Form V ÉbÄ#Ö  “to learn”. 

The following table provides a summary of the verb forms introduced in this book with 
examples.

Form 
#

PerfectImperfectExample
General Meaning/

Grammatical Function
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26. Noun Patterns
As in the case of verbs, Arabic nouns (and adjectives) follow specific patterns of derivation 
which share similar meanings or grammatical functions. Whereas the number of verb patterns is 
limited to a dozen or so, the number of noun patterns is much higher. Some noun patterns are 
more common than others. Some of the most common noun types are participles and verbal 
nouns, which are derived regularly from certain verb patterns.

An active participle generally refers to the doer of an action, the passive participle the recipient 
or the result of the action, while the verbal noun refers to the action itself, as shown in the 
following:

I

II

III

IV

V

VII

VIII

X

(b7}

(b2}

(7bò}

('i7}

<(b7}

ÉÜ7bò}

$vÜb} 

$(eb}

$~eÜb7}

fa‘al
fa‘il

fa‘‘al

faa‘al

’af‘al

tafa‘‘al

infa‘al

ifta‘al

istaf‘al

/Übu}

/Üb2}

/Üb7}

/uÜ7bô}

/uÜ'i2}

/uÜb2}

/eÜ7bô}

/�Üb2}

/Üeb2}

/heÜb2}

yaf‘ul
yaf‘il
yaf‘al

yufa‘‘il

yufaa‘il

yuf‘il

yatafa‘‘al

yanfa‘il

yafta‘il

yastaf‘il

4e7f-/deuf
i078-/b028
~D2â-/hD7â

iÄ#Ö-/bÄôÖ

~'i7"-/h'i2"

<ixf-/ubx2f

ÉbÄ#Ö-/ebÄ#Ö

$vÜx70-/�Üx20

$:eö}-/_eö2}

$~eö07G-
/heö02G

No specific meaning 
or grammatical 

function

Often causative

Often associative

Historically causative 
of I

Generally passive or 
reflexive of II

Generally passive of I

Historically passive/
reflexive of I

Historically reflexive 
of IV.

Active participle 4'Éf  writer
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The following table provides a summary of the most common patterns of active participles, 
passive participles, and verbal nouns introduced in this textbook with reference to the verb forms 
from which they are derived. The verbal noun patterns derived from Form I are too numerous to 
list, while the patterns that are rare or of which examples are not found in the textbook will be 
marked with an “x” in the corresponding cell. 

Active Participles, Passive Participles, Verbal Nouns

Passive participle

Verbal noun

9deaG

 4e'!)  

written

the act of) writing

Verbal Noun

many patterns

É†~Zg  
founding

9h'i7"F  
assistance

ñ~k]

 Islam, 
submission

Éo*#z 
specialization

$~e2D'U  
listening

$~eùx'-  

ÉÜbZ}

taf‘iil

9Ü'iÄ)

mufaa‘ala

<(b'W

’if‘aal

ÉÜb¶}

tafa‘‘ul

$(eb'W

ifti‘aal

$~eÜb'W

Passive Participle

9deaG 
written

9û~òh)  
foundation

 x

x

x

x

x

9ÜbaW

maf‘uul

9uÜ7bò}

mufa‘‘al

x

x

x

x

x

Active Participle

4'É2f 
writer

9û~#g 
founder

9h'i2"  
helper

9uhÄ2Ö 
Muslim

9eo*#z 
specializin

g

9he7D2â  
listerner

9uhe†Ç20 

('i2}

faa‘il

9uÜbô}

mufa‘‘il

9Ü'i2}

mufaa‘il

9uÜb2}

muf‘il

9eÜbô}

mutafa‘‘il

9Üeb2}

mufta‘il

9heÜb2}

I

II

III

IV

V

VIII

X
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An example of a set of adjectives that share one of the above patterns are the ordinal numbers 

2nd through 10th. They are all based on the active participle pattern of Form I ('i2} , as shown in 
the following table:

Although l'v;  and ~'LO  might seem exceptional in certain respects, they both follow the 
same pattern as the rest of the numbers. 

Other Noun Patterns
1. (7bà}  or (7b7} : This is the noun counterpart of Form I verbs. It is the basic form for nouns and 
generally represents singular nouns that are not derived from other forms.

2.  (ubaW : Words in this form are plurals of singular nouns with the structure (7bà}/(7b7} . 

3. <(àb'W : An alternative plural pattern for singular nouns with the structure (7bà}/(7b7} .

4.  (7bZ}   (Feminine (bZÄ) ): Words of this pattern are generally adjectives.

renting istif‘aal tenant mustaf‘il

$l�Z{

l'v;

lkl)

l'X2ß

<-!b)

-$!2â

yDh)

y'92g

~e)

~'L2O

~Yb)

~'!2â

lD'vZ)

l'92{

Éhb)

É'~2â

i_0F

i':20

:7à̀0 month

1X7" boy, child

!7Zàc   house

X7a5 color

/7aà]   day

:7;B thing

Ñ70àG   war

:u`a-  months   

plural of :`0

!ZaH houses  

 plural of !Zc

Ñu01G wars

plural of Ñ0G

</#'] days

/a] plural of

<1äL  boys   

plural of 1X"

<Xa$5 houses  

plural of Xa5

<:Z'B wars

plural of :;B
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5. (7bàk5 : Words of this pattern are generally adjectives describing temporary states.

6. 97Üb}  or 9ÜbÄ) : Verbs that have this pattern often refer to places.

7. 97Ü'i2} : Words that have this pattern are generally plurals of nouns of place with the structure 
( 97Üb7})F , described in 5.

8. <(b7} : This pattern refers to colors (masculine) and adjectives with a comparative/superlative 
meaning.

9. (2b'X) : Words in this form generally refer to occupations. 

4YZ0  big|öZ0  small!bZ"  far-yZz  cheap, inexpensive

iw_'5 thirstyÉbY'5  tiredNik5  upsetÇai'5  hungry

9wb7Ö   restaurant9def  office9deY)  bookstore, library9"-~)  school

97d'É2f offices97"$-O schools97w'i2Ö  restaurants

<~aL  black

<4Y0  bigger

<!Z®  white

<-y7z  
cheaper

<ÑD0   red

<Ñh7{  better

É2x'-F  commerce

L-$~)  study

|�'i)  industry, manufacturing

N-$i) agriculture


